EARAROBEEIERT — 2 N— IBISH —F

201418128 (H) 1E=#48

R EEXl

5

CES)

[($57E] Fikb

‘ [Riz] ¥ ‘ [REBE] — | & (&) 12000 FHE

[~E%] 1 7% :6,000,000 @ ~ 23 :2,400,000 @ ~ 37&:

1,500,000 /4 7 :900,000 @ 5 7& :600,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N . # 3 | ESHN 1:13.0 3-3 36.7]91.2 | 4 476 | KREHBZ (ER)
11814 ENNT R Y F 56.0 (=) (=) |tEET
L/ RS vy 7 BSH-ILAHLZR 5 45
o B, . 5| 84 EREGE ()
EE” IXxJFyIvE— 4 3 gs.o 1(143)7 2-2 37.5| 84.7 | 3 (4E8) pﬁ;’;ﬁ%
LT RYfYL—> BIXVFyIILALX THES
S 4 3 | =R 1:14.5 4-5 38.1| 775 | 1 448 | EESRMH (BR)
31111 | ¥—>YLR 56.0 (5) (=) | EEES
LiFATAT v— B:RA— R M=k =4S
N 4 3 | EAIEX 1:15.2 12-12 371 | 7.4 | 5 04 |BE (ER)
4 3 | /NS LROY 54.0 ) o) | B HEks
RixrvnqO— BT r—L—> [af:ekie
N & HEREH :15. - . . HHEL (ER)
. s NYTETT Y 3 s 1(;5@2 4-4 38.8| 71.7 | 2 (436) ﬁml—%
LFANKRTNYT Briy—HA RKRT> H—NITN=7 28V K
N BERRA :15. - . . HwHEZ (FXR)
c B0l T TUTZN= L 4 3 s 171553 4-5 38.9(70.9 | 6 (4E2) vt
L:Vv AT Ry h— B:IYITORN— [Gkse ]
¢ B3 | BEEERE 1:15.3 1-1 39.3|71.3| 8 458 | BFiBE (RR)
14 : FARAEE TS 252.0 NF) ) |PEER
R:AAYILIIZ N B:T7IN RO%%
= e e 3 | EoEfE 1:15.3 9-9 37.9] 70.3 | 11 | 456 |RBERE (RR)
8|7|12| T 1 T7NE—F—Jb * 54.0 76 o) FLPLA N
R:T7oBAT49 9748 B T7AxR2—%> mE I
— # 3 | BEER 1:16.0 7-5 39.3| 65.3 | 10 434 |EXH= (ER)
9 6 TA1 IXT7—7 A51.0 (4) (=) HIEFZ
L:y—-)>H— BENTY—> fERS
= S 2 4 3 | FIEEZ 1:16.0 12-12  [38.0| 64.2 | 9 542 | FEBE (BXR)
1wl 2| 7VAREZ I LY =4 54.0 (7€) (—) |EEBE
LN=VI54 B:T74—21K/ Tl REMBS
N . s 3 | FEEER 1:16.1 15-15 | 36.5| 63.6 | 15 | 376 |TFHEEZ (EXR)
11|5|9| 7= —~NL—% 54.0 (172 (o) |WAfER
LTIWNTFNZL2 B:IrE—T) eX XH ®Z
. # 3 | BHF 1:16.3 11-11 38.7| 62.0 | 12 380 | BEREIME (RR)
128|15| Y v AT LA b 54.0 (1 174) () | T
L:AAYILYIIZR N B:UyHET RU— REO4%5
e 4 3 | BAK 1:16.7 14-14 | 37.4| 58.0 | 7 458 | AEFIR (RR)
13|58 | 7YV — N 56.0 (2 1/2) (—) | B HprF-L—v2Y
RZART T ZXx— BN=Tx7hJaAq J—H¥rTr—LA
K . 4 3 | EEHE 1:16.7 7-8 40.0 | 60.3 | 14 | 400 |fFEE= (R®)
EH 4|\ 7RI A51.0 (74 (=) | wemm
L:AVFHFH IR BELF—N—7 &
S - 4 3 | RHEBZ 1:18.1 10-9 40.7 | 50.0 | 13 464 | FMIEHIE—BR (357#)
157113 Y ¥ AT1 774 753.0 ) (=) | ) fmss
LTy vk—y B:F4-—IZTLYO ARE4IS
@ 21 L
£ 49.1-37.0
NA> 24 L | 12.6-11.3-12.1-12.3-12.2-12.5
® 1—F—@EBIERL
13—7F-
2ol=5"=
Jo=5r= 7,11,14(1,5,10) (4,6)-12,13-15-(2,3)=8-9
43—+ — (x7,11)14,5(1,6,10)4-(13,12)15(2,3)=8,9
[ N5
= 14 750H 714K 11-14 780M e E 6-8 1,390 JEE 1-11-14 2,230
B B 14 210 1-14 470 B = 11-14 2,250 JEH 14-11-1 18,220M
1 190 1-11 380M B H 14-11 5,200
1 140/

ABICOVWTRDTEEERROODE. TR LIV,




